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>>> string = "the Communist Party of China"

>>> print(string[0]) £ TR R
>>> print(string[ —11]) HIIHEN
>>> print(string[4:13]) FHHE RN
>>> print(string[ —5::]) e Ea Sy
>>> print(string[:]) = UIRE
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0::2]) =R LT S
>>>new = string[ :: — 1] #UHER
>>> print(new) EHEI SRR

>>> print(string
[
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>>> from datetime import datetime FUIREN
>>> import sxtwl £ HIiE

>>> infol = "4 K J&"
>>> info2 = " £ "

>>> week = datetime. now( ). isoweekday() HEIRER -
>>> year = datetime. now(). year £ IIfE
>>> month = datetime. now( ). month 2 IIREN -
>>> day = datetime. now( ). day £ IHEN -
>>>s1="A:%5d4E%d A $d H" % (year, month, day)

>>> lunar = sxtwl. fromSolar(year, month, day) 2 IEE R -

>>s5 = "R :sdiESsssd H $d H" % (lunar. getLunarYear(), 'FE' if lunar. isLunarLeap()
else", lunar.getLunarMonth(), lunar.getLunarDay()) & ZNHE N MNFET IFGITHE AT
>>> print(infol + "\n" + s1 + "\n" + s+ "\n" + info2 + str(week))
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>>> # M math RPEC#FE T 2 A THMRIZ B % sart
>>> x1,y1 = input ("IER A 1A S ARSR (S R) ") . split()

>>> type(x1) FHHE RN

>>> x1,yl = float(x1), float(yl) = IHER

>>> type(x1) =2 ESE N
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>>> FEGAL 2 A R(x2, y2) AR, IF T, A3
>>> # ¥ x2, y2 'ﬁﬁiﬂﬁfﬁ?ﬂ float 2!

>>> dis = sqrt((x1 — x2) *% 2+ (yl — y2) %% 2) HIRES

>>> ﬁi‘ﬂuﬁﬂﬁ“jlﬁ“ﬁﬁﬁ SRR WL

(4) FfES H PR print O A A .

>>> from datetime import datetime

>>> year = datetime. now( ). year

>>> name = "t [{ H R 48"

>>> print(£"4>4F 5% {name} i 7. { year — 1921} A 4£") X HETE SR

>>> a,b=123456789, ' * ' = e

>>> print("{0:{2}>{1}, }\n{0:{2}" {1}, }\n{0:{2}<{1}}". format(a, 20,b))
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I am a handsome man

lonely and long for you attention

of all the girls I met you gave me the deepest im pression

Very lucky to know you

earn money to make you happy

you are the world

oh s be ma side
u are the happiest person in the world |
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